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QUESTION 1

You are designing a multicast topology to support IPv4 IPTV broadcasts in your organization. The design should
support multiple multicast senders with overlapping group addresses while preventing interference between them. Client
devices currently do not support IGMPV3.

Which approach would fulfill these requirements?

A. Implement MLD.

B. Assign group addresses in the 224/4 range and implement PIM-DM.

C. Implement PIM-SM and SSM with SSM maps to support IGMPV2 clients.

D. Implement bidirectional PIM.

Correct Answer: B

QUESTION 2

You are redistributing static routes into an OSPF area.

Which two statements are true in this scenario? (Choose two.)
A. The routes can be advertised in type 7 LSAs.

B. The area must be a stub area.

C. The external route advertisements have a domain scope.
D. The area must be the backbone area.

Correct Answer:. AD

QUESTION 3

Click the Exhibit button.
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Referring to the exhibit, on which three IS-IS routers will the attached bit be set? (Choose three.)
A.R3

B. R2

E.R5

Correct Answer: ABC

QUESTION 4

What information is contained in an OSPF LSA header? (Choose two.)
A. options

B. subnet mask

C. length

D. protocol

Correct Answer: AC
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QUESTION 5

You have PIM SM multicast configured and running in a network environment comprised of EX4300 devices. Your
customers report increased delay when switching channels using IPTV. To help decrease the delay, you implement PIM
join load balancing. You add the set protocols pim join-loadbalance command to the configuration. After committing, you
notice that the flows are still using only one path.

In this scenario, which statement is correct?

A. The clear pim join-distributioncommand must be issued.

B. The interfaces must be specified to use for load balancing.

C. IGMP snooping must also be configured.

D. PIM join load-balancing only works for PIM-DM.

Correct Answer: A
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